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a) a last look at X? 2505
b) LCQ on Correlation ONhy —
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Pick up the Warm Up

You'll need your Pink Chi-Square packet from
yesterday as a reference
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S |
warmUp  US€ Your notes as needed (5-1) A
\J
Practicing Using the Chi-Square Test of Independence \ 9"«“\\'\ ¢ B\ “K\ V}
i Mele |
Q? \ ko wil l [ \
1. A researcher consulted 500 men and women to see if the colour of the car they

drove was mdependem of gender. The colours were red, green, blue, black, and

silver. A 7” test was conducted at the 3% s]glnﬁcancg le\ el and the value found

oo

a. Write down the null hypothesis” .CO|Or is independent of /

gender
¢ —

b. Find the number of degrees of freedom. (2- \\(s - \) =

c. Write down the critical value for this test. 0' . Ll ‘b $ é—\

d. Iscar colour independent of gender? Give a clear reason for your answer.

Ve%
X of 315 < 4.48

~ o~

2. SupnQse a similar test was conducted on a different population of 300 people. A
gnificance level is used. It was found that the p-value wg
Iscolour independent of gender ? Y,

’ID = .0 g
Since the p-value < 0.05, we must
reject H, . Thus gender and car color
preference are associated.
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e

Consider the contingency table alongside: Own a pet?
a Construct the expected frequency table. \/ Yes | No
b Are any of the expected frequencies less than 5? 1 0-19 / 5\ 3
¢ Combine the data so that none of the cells have an expected 20 - 29 \®/)| 22

Age

frequency less than 5. 30-49 | 42 | 58

|Y€5 No 50+ | 39 | 34
O\B Oﬁ’c\ \Lf &S
2029 |\ | 0 h-29137 D

2049 | LRI
S0t | | S0+ | 39 3
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Ina 2 by 2 contingency table:

-- Yate's continuity correction must be used when

calculating X

> — fo| — 0.5)2
= 3 (o= 1209

where |f, — fe| is the absolute value or modulus of

Y

fo_fe
7
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The following table shows the results from a random sample carried out so that the
question about the relationship between education and job satisfaction could be

analysed. Completed University
YES NO
YES 27 618 890
NO 238 292 530
510 910 1420

Satisfied in job

1. Calcuate the expected freq

2. Set up a table to organize.

’Co—’(\@ P ’,

A7 B4.6S
6IE [3703S

(l.fo - fel — 0'5)2

88 H() —SS Xzalc = Z .fe

PR LA

D X2 = 29,

> — f.| — 0.5)2
Xga,lc - Z (If ffl )
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‘ Compr dnhensive  test SC(Q,nCQ,/madJ'\

Qo\uco;(-fonod ach%vemertt

Compave
' BQFO“O- TGBT - (nStionnaire

\_ﬁ L%“ L |20 questions
o Vis T =

Porew v:f3\ “Mcong

Brainstorm:

Think back to all of the statistical
graphs, statistics, measurements so far
in this course:
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Now that you have some
statistical tools, What type
of questions could be

investigated and answered?
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Project Scoring Guide

- a student friendly version

-the acutal one is posted on the class blog if /
when you want to look at it.
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Definitely get a folder to house all
project materials and keep separate
from the regular course materials.

LCQ on Correlation

You can use ....
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Assignment

Ch.11 Packet

p.341....#2 (use the ’XLstatistic) €=,
p.344.... #1abcd AN
p.348....#4 (use probability) &-=-="""" "'\

*

Cleasly che a7
PrepS

3: 7.~ veterinarian has gathered the following data about the weight of dogs and the weight of
npies.
Dog Total
Heavy Light
Heavy 36 27 63
Puppy Light 22 358 57
Total 58 62 I 120

The veterinarian wishes to test the following hypotheses.

Ho: A puppy's weight is independent of its parent's weight.
Hy: A puppy's weight is related to the weight of its parent.

(a)  The table below sets out the elements required to calculate the y* value for this data.
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(a)  The table below sets out the elements required to calculate the 7 * value for this data.

B T et | et
————— i IR ek 308025 | 1012
heetvy flight |} B0 ) 9255 |~ 5.55 30.8025 0.946
lightheavy. | 222755 | 5,55 30.8025 1.118
lightlight | 35 | a b e 2

9‘2’ /
: ; " d 4 { l
(i)  Write down the values of a, b, ¢, and d. \
- | 2 { 4
@l = Q-q .Hﬁ b - 5465 (s 74’04%‘) A= (o \J )

(ii) What is the valuenghis_ ata? '
i e oy ad:\\ vp values (a last
(\X = h, |'2' A e u " A
(i) How many degrees of freedom exist for the contingency table?
Af = (2-0)(2A) = ) o

: (iv) Write down the critical value of 7 for the 5% significance level.

1 R led M

i (b) Should Hy be accepted? Explain why.
1

4NZ 733dl we eceject Ha @
h-*‘vv 1 v (Total 9 marks)

W Letx=7.94.
3 2x+1

(a) Calculate the value of

() () Give your answer correct to three decimal places. (), 0B 17, .., . r_- Y :
(ii) Write your answer to (b)(i) asapercentage !’5 437 ‘
(c) Give your answer to part (b)(i) in the fonn\x 1; whm i/b 4"‘ (=N 2]
y.S 'fh5 méd(FJ N yp C NOratiod
6. « K el “.,AAN«)AMJ ForRm'"




October 03, 2017

5
@, -12- NO6/5/MATSD/SP1/ENG/TZ0/X X+
/Q-/ The figure below shows the graphs of the functions f(x)=2"+0.5and g(x)=4—x" for values of x
" between ~3 and-3.
Y ~—
(73X

'l“\:»

3 e 0

-3t

=13 = NUGO/STMATSD/SPITENG/TZ0/X X+

Sketch the graph ofy=3+il for -10< x<10.
x—

o g l{ s s oees %
.n-;.:..-.ai.--z;.nng \w Q
e Y g
l He & ©
\ M
' '7}, b\’o' x )'\100
e
l \ (0 g ‘BDM s
(b) Write down the equations of o W Y ¥ o\é( .
AN 9 00X ﬂb
(i)  the horizontal asymptote ’j_-: 5 < 74
W ¢

: 4 c
(ii) the vertical asymptote. o
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) |
79, 0,72) B ¢

(a) Write down the coordinates of the points A and B. A (
X V2 — \
(b) Write down the set of values of x for which f(x)< g(x). @ (_ ‘ : fq ) /Z' o | 0 J

» 4 — T o A

Mt what \geanows Gz the Y -Values dor £(x)
\ # 3 S ( N\

| pgs A the )_/\ -valdg Hor 9 &)
Answer.$ -] 4

LN

A small Pennsylvania town.

B

Outhiers
»

MarcaorLwm

(Al!['-u’:l
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The rest of the day today we will devote to
learning what is involved in the course
project.

- Get an overview (only)
- Hear about some past projects

- Start brainstorming for yourself.




